· Description of data analysis procedures (one paragraph)

· Selection/justification of your basic statistical approach

· Test(s) of assumptions underlying the statistical approach 

· Any modification made based on your test(s) of assumptions

· Description of findings (paragraph or two)

· Summary table comparing groups

· Accompanying narrative statement on CI of differences and t-test

· Description of effect size and power of the analysis

I do not have the complete descriptions of the variables but with the given information, I would add my interpretation.

The statistical approach selected is t-test analysis. To understand the effectiveness of the weight loss methods, we conducted an experiment where we divided the population into two groups randomly, administered the treatment on these groups and measured the weight loss. We want to evaluate whether the mean weight loss achieved by the two groups is significantly different or not.  If it is significantly different then two methods yield different results, else both methods provide same results. In this scenario, we need to do the test for difference of mean. For difference of mean there is t-test and z-test available. However, to use z-test the sample size should be more than 30. So we cannot use z-test. For small samples t-test is most appropriate. 

The major assumption underlying the t-test is that the distribution of the variables should be normal. Here we are doing the test of normality for the variable. 


Case Processing Summary

	 
	Group
	Cases

	 
	 
	Valid
	Missing
	Total

	 
	 
	N
	Percent
	N
	Percent
	N
	Percent

	weight loss
	1
	18
	100.0%
	0
	.0%
	18
	100.0%

	 
	2
	18
	100.0%
	0
	.0%
	18
	100.0%



Descriptives

	 
	Group
	 
	Statistic
	Std. Error

	weight loss
	1
	Mean
	-1.1111
	.44757

	 
	 
	95% Confidence Interval for Mean
	Lower Bound
	-2.0554
	 

	 
	 
	 
	Upper Bound
	-.1668
	 

	 
	 
	5% Trimmed Mean
	-1.1068
	 

	 
	 
	Median
	-1.0000
	 

	 
	 
	Variance
	3.606
	 

	 
	 
	Std. Deviation
	1.89888
	 

	 
	 
	Minimum
	-5.00
	 

	 
	 
	Maximum
	2.70
	 

	 
	 
	Range
	7.70
	 

	 
	 
	Interquartile Range
	2.08
	 

	 
	 
	Skewness
	-.219
	.536

	 
	 
	Kurtosis
	.199
	1.038

	 
	2
	Mean
	-5.0111
	.64153

	 
	 
	95% Confidence Interval for Mean
	Lower Bound
	-6.3646
	 

	 
	 
	 
	Upper Bound
	-3.6576
	 

	 
	 
	5% Trimmed Mean
	-5.0346
	 

	 
	 
	Median
	-5.1000
	 

	 
	 
	Variance
	7.408
	 

	 
	 
	Std. Deviation
	2.72178
	 

	 
	 
	Minimum
	-9.60
	 

	 
	 
	Maximum
	.00
	 

	 
	 
	Range
	9.60
	 

	 
	 
	Interquartile Range
	4.80
	 

	 
	 
	Skewness
	-.001
	.536

	 
	 
	Kurtosis
	-1.028
	1.038



Tests of Normality

	 
	Group
	Kolmogorov-Smirnov(a)
	Shapiro-Wilk

	 
	 
	Statistic
	df
	Sig.
	Statistic
	df
	Sig.

	weight loss
	1
	.176
	18
	.145
	.968
	18
	.763

	 
	2
	.136
	18
	.200(*)
	.959
	18
	.592


*  This is a lower bound of the true significance.

a  Lilliefors Significance Correction

The results of both KS test and Shapiro test fail to reject the null hypothesis at 5% significance level that the distribution of the variables (weight loss for group 1 and weight loss for group 2) is normal. See significance scores for the tests all of which are more than  0.05. Hence, we conclude that the distribution of variables is normal. Thus, the assumption required for the t-test is met. 

There is no need for any modifications in the test based on the findings of the test of normality as assumption conditions are met. 
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The t-test is not conducted and data not provided hence I cannto provide any interpretation on that. 

